
4-D Gaming Chair

SY-088-RD-GG / SY-088-BL-GG / SY-088-BK-GG

Thank you for your purchase!





STEP1

STEP3

STEP2

STEP4

C 1 x B 1 x A 1 x E 1 x D 2 x 

F 1 x 

K 4 x   Mx 4+(Spare x 1) N 2 x O 1 x 

H 1 x I 1 x J 1 x  x 5G
Backrest Base Armrest Gas 

Wheels

Decorative cover M5*8MM

Allen Wrench

Pillow

E

B
L

N

F

C

G D Armrest

Base

Wheels

Allen Wrench

M8 x 25mm

J

N
L

Allen Wrench

and

Phillips Head Allen Wrench

L x 16+(Spare x 4)

LisaWebb
Line



STEP5

STEP7

STEP6

STEP8

H1 N M I1

H2 I2

O

NM K

Backrest

Allen Wrench

A

L

N

M8 x 25mm Set Screw
and Washer Set

Left Plastic Trim Cover Set

M5*8mm Screw
Right Plastic Trim Cover Set

Left Plastic Cover Set Right Plastic Cover Set

Decorative Cover
Phillips Head Allen Wrench

M5*8mm Screw

Pillow

Attach the Backrest (Part A) to the Seat using (4) Set 
Screw and Washer Sets (Part L) These are preinstalled 
in the back. Tighten with Allen Wrench (Part N).

Attach the Left Plastic Trim Cover (Part H1) and 
Right Plastic Trim Cover (Part I1) using (2) 
M5*8mm Screws (Part M).  Tighten using 
Phillips Head Allen Wrench (Part N).

Phillips Head Allen Wrench

Attach the Left Plastic Trim Cover (Part H2 ) and 
Right Plastic Trim Cover (Part I2) using (2) 
M5*8mm Screws (Part M).  Tighten using 
Phillips Head Allen Wrench (Part N).  Insert (4) 
Decorative Covers (Part K).

Attach Headrest Pillow (Part O).




